Practice 14.2

For each sequence, state if it is arithmetic, geometric, or neither.If it is arithmetic, tell the
common difference. If it is geometric, tell the common ratio. If it is neither, chill out and move
on to the next problem.

1) -1, 6, =36, 216, —1296, ... 2) 11, -9, =29, —49, -69, ...
Geometric, Common Ratio = -6 Arithmetic, Common Difference = -20
5 7 4) —6, 24, —126, 624, -3126, ...
3) 2, —, 3, -, 4, .. ) =6, 24, ’ ’ ’
2 2 Neith
it
Arithmetic, Common Difference = 0.5 (or 1/2) einer
5) 32, 36, 40, 44, 48, ... 6) 0.4, 2, 10, 50, 250, ...

Arithmetic, Common Difference = 4 Geometric, Common Ratio = 5

7)a=—£+§n 8) a =8+6n
4 24 3

Arithmetic, Common Difference = (5/3) Arithmetic, Common Difference = 6

" 2n+1
Geometric, Common Ratio = -6 Neither

9) a =3-(-6)"" 10) a 2n

Determine if the sequence is arithmetic. If it is, find the common difference, the term named in
the problem, and the explicit formula.

11) 10, 16, 22, 28, ... 12) =31, =33, =35, =37, ... 13) 1, 2, 6, 24, ...
Find a Find a Find a
25 35 20
Arithmetic, Common Difference = 6 Arithmetic, Common Difference = -2 Not Arithmetic
Aaz2 104 Lln=) Anz=-31 4 67’)(”")

O, =104+ (W) Qag = =31 4 (-2)3)
Q. = 16 Y & ze = —-99

Determine if the sequence is geometric. If it is, find the common ratio, the term named in the
problem, and the explicit formula.

14) 1, 4, 16, 64, ... 15) =7, =5, =2, 2, ... 16) 1, -2, 4, -8
Finda, Find 4 Finda
Geometric, Common Ratio = 4 Not Geometric Geometric, Common Ratio = -2

On (1Y o ™ G = ()2
A a=65530 Q.- —51L

LY



14.2 Arithmetic and Geometric Sequences !
Sv 1—7r"
5 = M fomn Sn = 0 ( )

1—r
For numbers 16 — 20, find the sum of the first n terms indicated in part (a). Then, for part (b), find n for the given sum S,,.
r=y = ARMTHMET) ¢
17. 1+4+16+64+ ... SCMERIC 18. 50+42+34+26+... - 19. 7 +(-21) +63 + (-189) + ...
SCeomeC
a n=14 a. n=40 a. n=18
b. S,=341 b. S,=182 b. ® S, =13829
- A =22 —(- \
¢ o yagyac Gz 50+ ) =2 g - L,E?’z’j | = 37985854
R, Sn -y ) - ! ! 8 -2/
’ -(—(’u"'&), = —Lfl“@ w e
byt - o = el pn= ALz e by
T log Io72 =-n [og ; | <03 Bam
3y)= ST |32 - NGHICE gur= LG 3
- 2HPC - . v B = - Y +10%n 298 = 1= (3 FEN
. tegh 3¢y =n(50 +50 “Gad%) O T —Rualen “ET My
‘o1 2= {,L\ 5 =-Wn ,/’\ o = wt —23. 3 ‘\\}1(:\:‘\“0 b. WwW==
S e ) el A
20. 2+16+30+44 +58 + ... 21. 1+9+81+729+.... 22. 3+8+13+18+23+...
:,> /L%YZ'THW\E Tic GeomETRIC :*:;B ﬁ[ﬂl—ﬁ—k MET ¢
a. n=24 g Rl a n=10 a n=20
M = ° °
b. S,=2178 b. S, =820 b. S, =366
2 - e\ - @)
AlFe :V\”(/;u—f—@‘@ O\ S r(%:i:)‘%f?fél\* k S (3 3vse) = [olO
= liw —\On o= |1/ & D% ?
56 2 o a3t b Sl _ (34 2e%e)
o= L%'L_,{V\—ZIQ%B ’(”ngl /Cl . b. Bl = 2
Evaluate each series.Qup Form =€ (exdude 6] = -1 332 = n(5n-D
dectmal oms 656(= 9 O g A -A3L
. 3 . |117(,S Gl :L‘ 5 Quav Fazv‘:\\. @ i
23. z _ 24. Zj] 25. Z " S
i=2 j=1 3
B 1 a2
CHEIBIRY e [ +2 £

Write each series in sigma notation.

26. 16+25+36+49+64 27. 2+4+8+16+32 28. 501 + 502 + 503 + 504

slope = -3; through (-1,3) 2

. slope=0; through (-2,3) 3. slope=3; through (1,-3)




